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��
���	��	
��
� �

�
�� �
� ���
� � �� ��	���
�
�� ��
 �
�
�
���� � �	
���

	� �����

1
3
	
� 
� � 	
��� �� �� � ��� �
�
�� 	�
��
�� � 


� ��� ��� ��� ��
��� �����
��� �
�� ����
�
�� �
���	

 !' ������ �����
� ������� �� 
������



�
����� 	
 1 +
1
2

+
1
3
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1
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+ · · · + 1
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+ . . . +
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� ���	
�� � ��� �
����� �� � � � ��� � � �� � 	
����� �

& �����	 � � � �
 � ���	
�
������
�
�� �
�� �� ������
	


� �
���� ��� 
� � �� 9<=�#� � �� �
�� ;>� 	
�
�
� ���

�
�
� ��� � ��� �
� � � � ��� 	
���� 
�� 	
�
�� � 	
�
����

�
� � 
�� ���� � ��� �� #� ��
��� �� � 
�
������� ��	

� �� �� 	
#� ��
��? �
��� �� � ���	
��	
� n = 50 ���
�

�� ��� � �� �� 	
 
� �
�� �� �� � �� ��
�
;���
���	� �� �


� � � 
�� 	
�
�
 �
�����
 ��
	
�����

� ���� � ����
�


>< � ��� �	
� � � � �� � �� �
� 	
�
� � ���
�
��
�� �


���	 �
������ �
�
�
� 
���	 �
������ � � �
� ��
	
��

����
�, � �� � �
� 	
�
�
 �� � 	
�
� �
�	� ��� 
� � � � 4

�
������ 
�� 	
�
�
 �� 	�
��
 � ��� 	
���
 �
� � 
�� ���

�
 *�� ���
�
 ;@A4��;@A<�
;@AA�+ 
;
�� 	
�
��

�
������ � � �� � ��� 	
���� �
� � 
�� ���� *�� ���
��

;@A4�+ ���� 	
��� ����	�� >< �
����� 
����
4.4583
�� �� 	
 ��
�� �� �� 
� 
��� ����� ��� ���
�
�� ��� ���	�

�
����� H50 ≈ 4.4992�

� � �� ��� �� 	
 �� 
��� ���
�� �
 � 	
�
�	� ��
� � �� �
�

�
�
��
�� � ��� � � � ��� �
�
�� �
��
� � 	
�
�	
� � �� ��

������ �� ��
� 
�� �� �� �����	� ����� �� ;:: ���

�
�� � ��
� 
	
�
� � 
�� �
 � ��
�� � � ��� ��	� 	� 
��


��
	
�����
� � �� ���� 	
 � ��� 	� �
	
 �� 	 �� �� �
 � �
�

� � ���
��� 	
��	 � 
�������
	
� ��� 	
���
 �
� � 
�� �

���
 �� �������	� �� 	
��� �
�
� � ��� �#
�
� � �� �

� �� 
���
�� �� �� ��
� ��� ��
���
�
�
���
�� �
�	
�

30 .B� �� �
 � ��� �� �� 9;=�
� ��	
 	
 � �����
 ���
�


�� ��
 ��
��� 
�� 	
�
�
 � ��� ��
 � ��
� � �� �
� �
�

�
��
�� � � �� � �������	�
 ��
� � �� �
 � �� �� 	
 � 3����

� 
�, � �� � � � �
� 	
�
�
 �� ��
� � �� �� � �� �� 	� #� ��
��

�? �
�� ��� ��� �
� ��� ��
�� ;CA;����
�
�5�����


	
 �
����� �
� ���� �� �� �� �
�� �� ��� 
�
�
 ����
 �
�

����� �
 
� �	
��	� �����
��
��
�� �

�� ����
� 
�� 	
�
�

�
� ��
� � �� �
� �
�
��
�� � � 
�
����
� � 
�
������� �
�

� �� �� 	� � � �

�
��� ���� 	�������� ����

���
���� ��� ����� �
�����

& ���� ��
� � ��	
�	�� � ����
� � ���
�
�� �	� ���
�

�
�� ��� ���	� �
����� � �
���� 
�
�� ������
	
�� ��
��

���� �
� � �� � �
�� �� �� ��
 �� ��
� � � n � 	
�
�	�

���
�
��
 �� ��
��
�
 �
����� �
�� � ��
 ���	�
����� �� �

� �� �� � � � � ��
�
�
� � ��
��� ���
�
�
� �
�
��
�� �

#��� ���� � �� �
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R(n) =
R(n, 1)·1 + R(n, 2)·2 + . . . + R(n, n)·n

n!

=
1
n!

n∑
k=1

k · R(n, k)
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� � � � � ��
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���� �� R(n, k) �� ���	� 
�� ��
�� �
	� � ��� � {1, 2, . . . , n} � ������ k �
����� �

���("
�� #� n = 3 � �� ��	
������ 3! = 6 � 
�� ��� �
�

	� � ��� � {1, 2, 3}�5
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(321)
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������ � 	
R(3, 1) = 2�
�
�� ��� �
	
 (132)�(213) 
(231) 
� � 	� ������ ���

�
����� � � � 	
 R(3, 2) = 3� � � 
�� ��� �
	� (123)

� � ������ ��
�
����� �� � 	
R(3, 3) = 1����� 	
��� �
���	�
����� � � �� 	


R(3) =
2 · 1 + 3 · 2 + 1 · 3

6
=

11
6

.
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H3 = 1 +
1
2

+
1
3

=
11
6

= R(3)�
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� −4.7 −2.1 5.5 13 16.1 20.6 23 21.5 17.9 11.5 12 −2.5

��
�� −4.8 2 4.6 12.8 16.2 21.4 21.6 19.6 16.7 11.4 8.6 1.4

��
�� 2.5 −0.4 7.4 10.5 14.9 19.6 20.9 18.8 17.1 11.5 4.7 4

��

� −1.7 8.9 6.5 14 16.2 20.5 19.9 19.5 17.5 15.5 4.8 2.8

��
�� −0.2 4.3 8.7 10.9 17.1 18.8 23.1 21.1 17.9 13.3 7 0.9

��
�� −0.2 3.3 8.2 14.2 16.7 19.5 21.2 19.4 16.2 12.7 7 −0.9

��
�� −0.9 1.2 5 11.5 18.1 18.7 21.1 19.2 17.3 11.5 9.8 −1.8

����� 0.2 2.2 5.5 10.7 14.1 20.7 20.9 20.8 16.9 10.9 9.5 1.3

����� 0.8 4.6 3.8 13 17.6 18.7 22.2 22 14.8 11.4 6.2 2

���	� −0.6 5 9.7 11.6 15.4 20 21.1 19.8 14.1 10.5 6.5 2

���
� 0.3 3.4 7 9.6 17.5 19.7 21.3 21 17.4 10.2 4.8 2.6

����� 2.2 7.2 9.3 11.3 15 19 21 22.1 16.8 7.7 7.3 4.6

����� 5.6 3.2 8.4 11.9 17.6 18.4 21.3 20 19.3 10.9 5.2 2.1

���
� 2.5 1.7 4.1 11.8 16.5 19.2 22.1 17.7 15.5 11.5 8.4 1.8

����� 3.2 6.3 11 10.4 16.4 20 20.7 20.2 14.7 12.5 6.9 0.9

����� 1.4 2.1 8.4 10.6 14 18.8 19.5 19 15.8 11.1 2.2 2.1

����� −0.3 3.1 9.1 10.9 17.5 21.5 19.9 19.7 16.8 10.6 7 5.4

����� −0.7 4.2 6.9 9.4 13.5 18.9 20.2 20.7 16.5 11.4 5.1 0.6

����� −0.5 1.8 10.3 12.2 16.1 19.9 21.3 20.9 17.2 13.6 6.2 2.1

���	� −0.9 0.7 6.9 9.4 17 20.6 22.2 20.7 19.5 12.5 7.1 5.1

���
� 4.3 0.7 8.7 14.1 17.8 19.3 23.8 21.4 17.3 12.1 3.9 2.3

����� 1.5 1.3 6.2 11.3 14.5 18.4 19.5 19.9 16.8 12.8 7 1.9

����� −3.4 −1.3 6.1 11.7 17.5 17.6 22 21.5 17.8 11.5 4.2 6.4

���
� 2.2 −2.1 4.5 12.8 19.2 18.3 20.5 21.9 16.1 11.6 7.1 0.7

����� −1.8 3 2.7 12.6 14.8 19.5 23.2 19.8 20.6 12.8 6.1 2.7

����� 5 5 6.8 11.5 16.8 18.8 23.3 22 17.2 11.5 2.6 2.6

����� 0.2 5.4 11 12.9 15.7 17.7 21.8 20.8 16.9 12.3 5.5 4.3

����� 1.1 8.6 11.3 11.2 17.9 19.1 21.6 22.2 15.8 12.5 6.8 2.2

����� 2.8 0.2 10.3 10.5 13.3 19.8 23 21.4 18.3 10.2 7.1 0.2

���	� 2.9 5.8 8.3 12.8 17.3 20.2 22.5 25.8 18.7 11.2 8 2.3

���
� 3.1 2.3 7.1 13 19.3 20.6 21.7 22.4 16.5 12.9 2.9 3.3

����� 5.2 4 11.7 12.3 17 20.4 23.9 23.4 19.3 10.2 9 3.4

����� 1.9 7.4 6.7 13.1 16.2 18.6 23.8 20.4 15.6 13.3 5.8 2

���
� 0 0.7 4.6 12.1 17.6 21.1 20.2 20.8 13.8 12.6 8.9 −0.3

����� −0.3 6 8.3 9.3 17.8 20.6 21.4 21.6 17.9 10.4 6.7 4

����� 5.1 7.7 6.5 13.6 17.1 21.3 22.4 22.5 16.7 12.6 4.8 −1.5

����� 1.7 3.2 9.6 13.5 17.4 20.7 22.4 21.6 19.7 13 4.6 2.9

	���� −0.2 6.5 8.9 15.4 18.5 22.3 21.5 24.4 17.8 14.2 10.5 5.9

	���� 4.6 5.9 10.9 11.8 18.7 19.1 22.9 23.6 15 15.4 4.7 −0.7

	��	� 2.2 7.6 10.4 11.4 18.9 21.9 22.5 21.6 16.1 12.3 10.8 2.7

	��
� 0.5 −0.1 8.9 11.9 20.4 24.5 23.6 25.8 17 10.1 9.4 3

	���� 0.9 4 6.7 12.5 15.6 19.6 21.7 21.7 17 13.9 7.7 2.9

	���� 2 −0.1 6.8 12.7 17.5 20.5 22.1 19.2 17.5 13.1 6 2.6

	��
� −0.1 2.8 6.4 13.5 16.7 21.2 24.7 19.3 18.8 14.6 9.9 5.2

	���� 7.5 8.1 10.2 15.9 18.8 22.7 23.8 22.1 15.5 11.2 6.1 1.4

	���� 3.8 6.8 8.3 13 18.2 21.6 22.8 22.5 16.5 14 8.8 4.3

	���� 0 4.1 8.4 15.8 19.2 20.2 23.2 23.6 19.7 12.7 9.3 4.1

	���� 0.3 3.6 7.8 13.3 16.7 21 24.1 21.7 15.9 10.6 9.9 1.7

	���� 3.1 2.9 8.7 14.9 18.1 21.6 22.9 24.3 21.4 11.7 4.3 4.8

	��	� 3.8 −0.2 11.5 13.3 17.5 22.9 25 25.4 18.9 12.9 10 2.8

 !( ������ �����
� ������� �� 
������
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+
(�� #� k > 0 ��
	
�


R(n, k) = R(n− 1, k − 1) + (n− 1) · R(n− 1, k)

������ ���� � 
�� ��� �
	� � ��� � {1, 2, . . . , n} �

������ k �
����� �� � �� ��	� � � �� ��� � ��� ��� � �

��
��� � � ��
�
	
	
�
�
�
�E��	�� ��
� � 
�� ��� �
	� �

1 �� � ���� � 	
� �� 	
��� � 	
 R(n − 1, k − 1) 	
� 	

�� �� 1 �
������ � � � 
�� ��� �
	
� �
�� �� �
� n−1 
�
�
� 
�� �� ��
�� � � 	��� k− 1 �
����� �����
� ��� ���

��
�
 � 
�� ��� �
	
 � ��	
� � 	
 1 �� �
��� ������

� 	
� ����	
� ���� �� n−1�, � �� 1�
	
 �
������ � ��
� �� �� �� ��� � 	
� ���� � 
�� ��� �
	
� �
�� �� �
� n − 1

�
� 
�� �� ��
�� � � ������ k �
����� � E��	 �� ��
�

� 
�� ��� �
	� 	
��� � 	
 �� ��
 (n− 1) ·R(n− 1, k) 
�
��
�� ��
	
�
�����	� �
� 
�

& �� � �� ��� 
��� ����� ���	
�� R(n, k) ����
� � 2����
�
	� f n(x) 2��� ����

f n(x) =
n∑

k=1

R(n, k) · xk.

, � �� 	
 � �
� 	
�
�
 f 1(x) = R(1, 1) · x = x�

#� �� �� ��� ��
� � �� ��� 2����
	�$ �
�
�
�� �	
� 2����
	


f n(x) ���
�� � �

f ′
n(x) =

n∑
k=1

k · R(n, k) · xk−1

�� 	
� �

f ′
n(1) =

n∑
k=1

k · R(n, k)

� � ��
 ���
�
�� �
���	�
����� �
�
	
��� �

R(n) =
1
n!

n∑
k=1

k · R(n, k) =
1
n!

f ′
n(1).

�� �� ��
� � ���
�
�

�� � �
�
��� 2��� ��� �� 2����
	�

f n(x)�!� �
D�
�
	
 2����
	
 f n(x) 
�
����
	
 
� �
� 

���
�� � � �� ��
	
�


f n(x) = x · f n−1(x) + (n − 1) · f n−1(x),

� ��� ��


f n(x) = (x + n − 1)f n−1(x).

F
�� 
� ����
� ���
�� �
�	
� � ���	
��	
 2��� ��
 ���
�� �

� �

f n(x) = (x+n−1) ·(x+n−2) · . . . ·(x+1) · f 1(x)

�� 	
� �

f n(x) = (x + n − 2) · . . . · (x + 1) · x.
' � �
�� ��� 
� �
�
�
�� �	� �����	

��� � ���� �
�� 
�� � � 


���
�� � �

ln f n(x) = ln x + ln(x + 1) + . . . + ln(x + n− 1).

�
�
�
�� �	
� ��
	
�


1
f n(x)

· f ′
n(x) =

1
x

+
1

x + 1
+ . . . +

1
x + n − 1

.

&��� �
� � �
x = 1 ���
�� � �

1
n!

f ′
n(1) = 1 +

1
2

+ . . . +
1
n

= Hn

� � ���� ���� ���
�� � �

R(n) =
1
n!

f ′
n(1) = Hn,

�� �� � � � 
��
�	
�
� ��� �� �
�
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� � �
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���� 
��� ����� ������
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� � � �
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�
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� ��� �
�� ����
� � 
���� � �
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�����
�
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��	
 � 
���
��
��
 �
�� �	� 
� ��� �� �� �� �� � �
��� ��

�
� � �
��	��� ���� ��	�� �
�
� ���
 �
 � ���� ��
� 9>=�

� � � �� 
�
� � 
�� �
 ���	
�
(−1)n−kR(n, k) �� �
�
�� 	� ��
��
����
���	
�
� ��
 ��� �
� �	
� � �
 �
�� 


� ���
 � ����
�� �
� 9A=�

�
� ���	�� � ���
	�� ��
�� 
��


� ����
� �

& � �
������� � � � ��	
�	�� �� � 	
���� ���� �� �

�
�� �� 
 � ���
��� �
2��� � ��� �	
�� 
�	
� � �
�
���

������
	
� � �
���� �� �% � � �� �� � � � �� 	� �
�
� ������

�� � ��
� � �� ����
�
���� ��� ��	
� �� �
�� �� � ��
�� ��
�

�� �� 
���	� �	� ��
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�
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�� �	
��
��

�� ������
�
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�
�� �
�
�
 ���
 �
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��	� �����
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�� ��� ����� � � 	
� � 	���

' � �
	
������ �����
�� ��� � ��� ���
� �

������ 	 n = 3 
� �
�� �� �� �
�
�� �
�

�� � � ��
������ 	�� ���	� X1,X2,X3 
�


��
��� �� [0, 1]�5
�� ��
 ����
� � � ��

��� ��
	

���� �
	
��� � �
	
� ���
�
��

���� � �
� � �����
� 
����� 	
 � ���

 = [0, 1] × [0, 1] × [0, 1] ⊂ R3�

#� k = 1, 2, 3 ����
� � 2����
	
 Yk

��
	
 ��
	
�����
��
�
 � 
����� �� �� 
�

� ���� �

Yk =
{

1, � �� 	
 Xk �
����

0, � �� Xk �
	
 �
�����

 �� ��
 2����
	
 ��	
 ������ 	��� ���� �� 	� � �
��

�����	� �
�
�
� ��
���	��� �
�� 	� �
 �
� ��
��
 ������ 	�

�
 �� �
	� ��
�.�� 	
 Y �
�� �
� ��
��� ������ 	�� �� �

�
	� ��� ��	� � �� �
� � ��
	
�����
y1, y2, . . . , yn 
� ��

	
 pi �	
��	� ������� Y � �� �
� 
��
	
�����yi�����

�
 ���
�
�� �� ��
	
����� �� Y ���� ��� �� � E(Y) 


�� ����� �� � E(Y) = p1y1 + . . . + pnyn� ��
� �

��� �����
�
�� �
 ��
	
�����
������ 	�
� �� �
	� ��
Yk 
��

���


E(Yk) = p(Xk �
����) · 1 + p(Xk �
	
 �
����) · 0
= p(Xk �
����).

% � �� �� � �� �
� � ���� � ����	 �
����� � ����
� �

���� ������ 	�� �� �
	� ��� Y = Y1 + Y2 + Y3� 5� �

�
� � �
���� ���
�
�� �	
 
� � � ��	� ��� �
�
� �����
� � �

���
�
�� �
���	�
����� 
����


E(Y) = E(Y1) + E(Y2) + E(Y3).

�� �� � �� �� �� � 
� ����� �� 	� �
	
 ���
�� ��
	
�


E(Y1) = p(X1 �
����) = 1� F	
��	� �����
��

�� X2 
X3 �
����
�
��� ����� ���
� � � � �� ���� �
�

�� 
��
	� �
 �	
��	� �����
����� � �
� � �����
� 
�����

 = [0, 1]× [0, 1]× [0, 1]��
 � ��� � �
� 
����� �� ��
�
� �� 	
X2�������� X3��
������ ���
� � � �
�� �� �


� �����
�� ���� ��� �� ����� �� 	
 � �
�� �� �� �� ��
�


;� , �� ��
�
 �	
��	� �����
�� ����� � � � � �� ���� 2���

� ���

p(Xi �
����) =
���	� � (Xi �
����+

���	� � ()
.

���� � {X2 �
����} ������ �� � �
�� � ABCA1B1C1�

� � ��� � {X3 �
����} � 
�� � 
�� A1C1D1A�

0

1

1

A
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B1

C1

Q1Q1

D1

B

CD

B1

D1

B

CD

0

A

C1

1
A1

1
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� �� �
 � ��	� �� 
�� 	��	�� ABCDA1B1C1D1�

��
� 
	
�
� � �� 	
  	
�
�
���� ����� ����� 
�� 1�

� ��� {X2 �
����} 	
 � �
�� � ����� 
��
1
2
� � � ���

{X3 �
����} 	
 � 
�� � 
�� ����� 
��
1
3
� ����� 	


E(Y2) = p(X2 �
����) =
1
2
� ������� E(Y3) =

p(X3 �
����) =
1
3
��� �� 	


E(Y) = E(Y1)+E(Y2)+E(Y3) = 1+
1
2
+

1
3

= H3,

�� �� �� �� �� � � � ��
�	
�

� ��� �� �
�

#� ��� 	�� �
� 	
�
� � �
 �� 	
 �
� 1 +
1
2

+ . . . +
1
n

�
�
��
��� ��� �� ��� ��
�� �� � n → ∞����	 �
����

�� �� ���
� �
���� �
��
�� �� � �
� �����
�� 
� �� �
�
�

�
 ��
	
�����
�� n ��
	
�
�� 	
 Hn ≈ ln n +  �
��	
 	
  ≈ 0.5772 3��
��5� ���
���
	
�� �����

�� ��� �,� ��� ��
�� �� �� ��n = 1000 �
� 
��� �����

H1000 ��� � � � ���
� � � ���
	
�
�
�� ��
 ���
�
�� �


���	�
����� 
����
�
≈ ln 1000+ 0.5722 ≈ 7.485�
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